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QUESTION 1

What is a role of Web services in building an SOA?

A. To provide interoperability using XML-based messages

B. To provide an interface for human interaction using task lists

C. To provide loose coupling via remote method invocations using JAX-RPC

D. To implement the service functionality through interfaces defined in the applications\\' BPEL

Correct Answer: A

QUESTION 2

Which people, organizational or technology factors negatively impact the adoption of SOA?
A. Putting funding mechanisms in place to encourage reuse

B. Agreeing on policies for service reuse across lines of business

C. Planning to perform a complete overhaul of all business processes

D. Defining additional capabilities required, such as upgrades to the IT infrastructure

Correct Answer: C

QUESTION 3

Organizations that do not adopt SOA will experience which outcome?

A. The adoption of Web 2.0 technologies will be more problematic.

B. Outsourcing non-core business functions will become impractical.

C. The potential value of existing IT assets will not be fully realized.

D. The implementation of Web services to handle real-time transactions will not be possible.

Correct Answer: C

QUESTION 4
If a component of the overall system is functionally complete and operates within that system
independently from the functionality of the other components, it is an example of which SOA

architectural concept?
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A. Modularity

B. Extensibility

C. Loose coupling

D. Separation of concerns

E. Composite implementation

Correct Answer: A

QUESTION 5

In applying SOA, which principle can reduce overall cost?

A. Reuse services across lines of business.

B. Build services for only the most important business functions.

C. Build general services that can perform a variety of business tasks.

D. Reimplement all services on a consistent hardware and software platform.

Correct Answer: A

A2160-669 PDF Dumps A2160-669 Exam Questions A2160-669 Braindumps

A2160-669 PDF Dumps | A2160-669 Exam Questions | A2160-669 Braindumps 3/3


https://www.pass2lead.com/a2160-669.html
https://www.pass2lead.com/a2160-669.html
https://www.pass2lead.com/a2160-669.html
http://www.tcpdf.org
https://www.pass2lead.com/a2160-669.html
https://www.pass2lead.com/a2160-669.html
https://www.pass2lead.com/a2160-669.html

